

1) Vgręste

(B)

$$y' \sin x = y \ln y, \quad y\left(\frac{\pi}{2}\right) = e$$

$$\frac{dy}{y \ln y} = \frac{dx}{\sin x}$$

$y \neq 0, y \neq 1$ — warunkowe p.c., p.d.c.
 \uparrow — warunkowe a.w. z.d.c.

$$\ln |\ln y| = \ln \left| \tan \frac{x}{2} \right| + C$$

$$\ln \left| \frac{\ln y}{\tan \frac{x}{2}} \right| = C, \quad C \in \mathbb{R}$$

$$\left| \frac{\ln y}{\tan \frac{x}{2}} \right| = k, \quad k \geq 0$$

$$\frac{\ln y}{\tan \frac{x}{2}} = L, \quad L \in \mathbb{R} \text{ lub } 0$$

$$\ln y = L \tan \frac{x}{2}$$

$$y = e^{L \tan \frac{x}{2}}$$

p.c., p.d.c.

$$e = e^{L \cdot \tan \frac{\pi}{4}} \Rightarrow L = 1$$

$$\underline{\underline{y = e^{\tan \frac{x}{2}}}}$$

$$\int \frac{1}{y \ln y} dy \quad \left| \begin{array}{l} t = \ln y \\ dt = \frac{1}{y} dy \end{array} \right| =$$

$$= \int \frac{1}{t} dt = \ln |t| = \ln |\ln y|$$

$$\int \frac{1}{\sin x} dx = \ln \left| \tan \frac{x}{2} \right|$$

def. obs.

$(0, \pi)$

2)

(B)

$$\left(\frac{1}{y^2+1} - \frac{y}{x^2} \right) dx + \left(\frac{1}{x} - \frac{2xy}{(y^2+1)^2} \right) dy = 0$$

$$\downarrow \frac{\partial}{\partial y}$$

$$\downarrow \frac{\partial}{\partial x}$$

$$-\frac{2y}{(y^2+1)^2} - \frac{1}{x^2} = -\frac{1}{x^2} - \frac{2y}{(y^2+1)^2} \quad \text{je exacthi} \quad \checkmark$$

$$F(x,y) = \int \left(\frac{1}{y^2+1} - \frac{y}{x^2} \right) dx + C(y) = \frac{x}{y^2+1} + \frac{y}{x} + C(y)$$

$$\downarrow \frac{\partial}{\partial y}$$

$$-\frac{x^2 y}{(y^2+1)^2} + \frac{1}{x} + C'(y) = \frac{1}{x} - \frac{2xy}{(y^2+1)^2}$$

$$C'(y) = 0$$

$$C(y) = K$$

$$\underline{\underline{\frac{x}{y^2+1} + \frac{y}{x} = k_1 \quad k_1 \in \mathbb{R}}}$$

3) Löse

(B)

$$xy' + 2y + x^4 y^3 e^x = 0 \quad / \cdot \frac{1}{y^3}, y \neq 0$$

↑
Vergleiche

$$\frac{xy'}{y^3} + \frac{2}{y^2} + x^4 e^x = 0$$

$$\frac{y'}{y^3} + \frac{2}{xy^2} = -x^4 e^x$$

$$z = \frac{1}{y^2}, \quad z' = -2 \cdot \frac{1}{y^3} \cdot y'$$

$$z' = -2 \left(-\frac{2}{x} z - x^4 e^x \right)$$

$$z' - \frac{4}{x} z = 2x^4 e^x \quad / \quad e^{-\int \frac{4}{x} dx} = e^{-4 \ln|x|} = \frac{1}{x^4}$$

$$\frac{z'}{x^4} - \frac{4}{x^5} z = 2e^x$$

$$\left(\frac{z}{x^4} \right)' = 2e^x$$

$$\frac{z}{x^4} = 2e^x + C$$

$$z = (2e^x + C)x^4, \quad C \in \mathbb{R}$$

$$\frac{1}{y^2} = (2e^x + C)x^4 \quad \& \quad \underline{y=0}$$

(B)

4) Vgüte

$$y'' + y = 4xe^x$$

$$\lambda^2 + 1 = 0$$

$$\lambda_{1,2} = \pm i$$

$$y_H = C_1 \sin x + C_2 \cos x$$

$$y_P = (Ax+B)e^x$$

$$y_P' = Ae^x + (Ax+B)e^x = (Ax+A+B)e^x$$

$$y_P'' = (Ax+2A+B)e^x$$

$$(Ax+2A+B)e^x + (Ax+B)e^x = 4xe^x$$

$$A+A=4$$

$$A=2$$

$$2A+B+B=0$$

$$4+2B=0$$

$$B=-2$$

$$y = C_1 \sin x + C_2 \cos x + (2x-2)e^x$$

5) Necht $X = \mathbb{R}^2$ a pro $x = [x_1, x_2]$, $y = [y_1, y_2]$ ovážme funkci

$$\rho(x, y) = \sqrt{(2x_1 - y_1)^2 + (2x_2 - y_2)^2}.$$

Pro dvojici (X, ρ) metrický prostor?

Řešení: Ne. Uvažme bod $\tilde{x} = [1, 0]$. Pak

$$\rho(\tilde{x}, \tilde{x}) = \sqrt{(2-1)^2 + (0-0)^2} = 1,$$

tedy $\rho(\tilde{x}, \tilde{x}) \neq 0$.